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im z*

w0 In(14+z)—=x
2x

|

Il
4;"—: | N[»-
o s

5

=4
=

H
)
o

—
1+=x v

17199 BBD) B S(2) RO, +oo) ERHMD B RMEZEH 0. = >, F)—
[ frdztn = 1,2, EBBI a,) tOMRRFFLE.

[(R] R qa, REEEFEY). HEER,
e+ 1)<f:“f(z)dx< FCU b= 1,2y,

n m—l

W H Rt 0 = 3 fB = D[ f@)da

n—1 bt
= 3w~ [ f@dzl+ fiw >o.
=1

(2) B, # aw —a, = fnt1) —f:”f(x)dzgo 5,{a,) BB 8 la,) KR RELE.
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C X AR A -

(Z—i—e'} +sinx)

18. (2000 By¥—) K 1}13’1;1‘_—; T=] ):
(81 8 (S T i ()=,
. 2+ e | sinz _ 2+el_in_x _ _
}-’-"?( +e%+m) l'ﬂﬁ(wei : )m2z-1=
HURR = 1.
19. (2001 BT Rk Milim (S ) TRMARRRY f (o) REH S (2 IR I 46
HEH.

(®] BHE1 WEREITELAL.E

flx) = exp[llm( sing l)- ——I—]= =3

t—=x sinx sint — sinx

EWr SRz =kn(k=0,+1,+2,).

B Hlimf(z) = lxilx;eﬂi“x = e, Tl z =0 X F—RK(FATX) W7 &. HABB SR THE KGR
FF5) 18] B .

20. (2002 B¥—) WEE (D Ez=0WEPBANRE—ELZFE H (0)#0,7(0)
# 0,4 af (h) +bf(2h) — f(0) ZTE h — 0 BY R h BB ST /D, i E 2.6 HIE.

(8] HERFGELIEENFH

0 = lim af(h)+bf(2h)—f(0) = lim & (h)+2bf @h) _ (4 1 28) £ (0).

h—0 h—=0

BT (0 0 F £(0) # 0, F BB L AR MR 4 F a0tk Rk 0,875
{af(O) +56f(0) — f(0) = O.:{a-{-b-l =0,

af’(0) +26f'(0) =0, a+2bh=0.
HE@Ea=2,6=—1.
21 (2002 BFET) BEH (D) Ex=0WESHNEA _MELZIFE B £(0) #0,/(0)
#0,f7(0) £ 0. iEB  FEM— B —HLEA A2 oA B Y h— 08F, 4, F(R) + 22 f(2h) + 25 f(3R)
— fQ0) Bt h* BB TS/

GE] RATIEFERE—F—ALB 2.2
o AR +2, £(2h) +2:(3h) — fCO) _

h——o h?
H AR LB,
O =

Alf(h) +2:f(2h) +2; f(3h) — £(0)

:.-.o A’

— L A (B) 422, £ (2h) + 34 £ (3h)
:.*o 2h

A F(r)+ 4Azf”(2h) + 92, £ (3h)

h—vO
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